ERERMmAAGELLR—R
X REY-FEOEMIETY (REKIEFNRTY ). A#ENERISLY, BREOLVHSHHIBEHHYET .

e . 4 X (cm) -
w5 No has (B | g (w) | 247 (D) |B&(H) SR
» | 1 ~ 46 |OATRY 46 180 80 70

Ly | 47 RE 1 180 80 70

5 | 48 ?’2;7%’1%@) 1| 180| 120, 70

Z | 49 RAL(BYT=F=#7I) 1 180 45 70

|50 ~ 52 (EJZ‘JLL)T:T:}M:EI) 3 180 60 71

H | 53 AETF—TIL 1 180 75 50

E |54 AETF—TIL 1 150 85 50

< |55 AETF—TIL 1 120 60 57
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B4 X (cm)

s %g his “ﬁi} & (W) |87 (D) |BE(H) SR
I+ | 56 REF—T )L 1 124 60
= |57 AET—TIL 1 121 54
T |58 ~ 72 |REWNT 15 75 75
L |73 ~ 76 |RY—IL 4 50 50
¥ |77 A#E 1 60 60
|78 ~ 81 |[RELT 4 83 80
Zz | 82 RENT 1 75 80
f= | 83 RENT 1 80 77
5 | 84 ~ 85 |RELT 2 80 70
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B4 X (cm)

s %5% his (15%3 & (W) |87 (D) B (H) SR
D |86 ~ 88 [F{FARHLNT 3 74 62
T |89 ~ 92 |HfFRENT 4 81 73
E |93 ~ 111 | KBNS 19 45 42
o112 ~ 13| KT 2 40 45
I 114 FrRE—FRENT 1 53 46
B (115 ~ 116|LVF 2 48 43
ta | 117 RRYFIT NG 1 44 43
D |118 ~ 123 i&%gﬁﬁ)) 6 45 50
(& |124 B EEELNY 1 66 64
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e - P4 X (cm)
=% o nas B | sgow) | a6 om0 SR
UV 125 ~ 141 |/8y3v5v% 17 50 50
A | 142 BIEFEVERE 1 88 40
~ |143 ~ 144|3|EBNEE 2 176 40
X |145 TLESR 65 55 45
x| 146 Ryavsyy 1 64 45 135
& | 147 Ryavsyy 1 80 50 113
& | 148 & 1 80 40 65
& | 149 2R 1 180 2 90
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B4 X (cm)

25| o his “ﬁi} I8 (W) |47 (D) | B (H) S8
3 [150 HYARR—F 216 45 80
X | 151 mBEEE 90 45 118
W [152 rT—TUEE 176 52 88
& | 153 N—=FAILFrERYL 45 62 140
5 |154 STILFrERVE 180 48] 113
Y |155 a—F—HhI 58— 60 60| 100
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B4 X (cm)

s o nas (15%3 & (W) |47 (D) | (H) S8
% |156 ~ 161|TSAUK 6 215

n | 162 '(2,”_;%4”/@3)’ 1| 275 4 123

% 163 ~ 168 %2\’);‘?@?%’{)) 6/ 160 160] 71
e lga o e

% (170 ~ 173 (7‘22%?@) s 180 60| 21

A | 174 (7‘2'5)_17131&) i 13 18 33
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